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210 
fo"k; %fo"k; %fo"k; %fo"k; % HkkSfrd 'kkL=HkkSfrd 'kkL=HkkSfrd 'kkL=HkkSfrd 'kkL=    
Subject: PHYSICS 

(Hindi & English Version) 

le; % 03 ?k.Vs  iw.kk±d % 75 
Time : 03 Hours  Maximum Marks : 75 

ffffunsZ’k%& unsZ’k%& unsZ’k%& unsZ’k%&         

    (i)    lHkh ç’u vfuok;Z gSaA ç’u Øekad 05 ls 20 rd izR;sd ç’u esa vkarfjd fodYi lHkh ç’u vfuok;Z gSaA ç’u Øekad 05 ls 20 rd izR;sd ç’u esa vkarfjd fodYi lHkh ç’u vfuok;Z gSaA ç’u Øekad 05 ls 20 rd izR;sd ç’u esa vkarfjd fodYi lHkh ç’u vfuok;Z gSaA ç’u Øekad 05 ls 20 rd izR;sd ç’u esa vkarfjd fodYi 

    fn;s x;s gSaAfn;s x;s gSaAfn;s x;s gSaAfn;s x;s gSaA    

 (ii) ç’u Øekad 1 ls 4 rd ç’u Øekad 1 ls 4 rd ç’u Øekad 1 ls 4 rd ç’u Øekad 1 ls 4 rd izRizRizRizR;sd ç’u ij 5 vad vkSj izR;sd miç’u ij 1 vad ;sd ç’u ij 5 vad vkSj izR;sd miç’u ij 1 vad ;sd ç’u ij 5 vad vkSj izR;sd miç’u ij 1 vad ;sd ç’u ij 5 vad vkSj izR;sd miç’u ij 1 vad 

    fu/kkZfjr gSAfu/kkZfjr gSAfu/kkZfjr gSAfu/kkZfjr gSA 

 (iii) ç’u Øekad ç’u Øekad ç’u Øekad ç’u Øekad 5555    ls ls ls ls 8888    rd izR;sd ç’u ij rd izR;sd ç’u ij rd izR;sd ç’u ij rd izR;sd ç’u ij 2222    vad fu/vad fu/vad fu/vad fu/kkZfjr gSkkZfjr gSkkZfjr gSkkZfjr gSaa aaAAAA 

 (iv) ç’u Øekad 9 ls 12 rd izR;sd ç’u ij 3 vad fu/kkZfjr gSç’u Øekad 9 ls 12 rd izR;sd ç’u ij 3 vad fu/kkZfjr gSç’u Øekad 9 ls 12 rd izR;sd ç’u ij 3 vad fu/kkZfjr gSç’u Øekad 9 ls 12 rd izR;sd ç’u ij 3 vad fu/kkZfjr gSaa aaAAAA 

 (v)  ç’u Øekad 13 ls 17 rd izR;sd ç’u ij 4 vad fu/kkZfjr gSç’u Øekad 13 ls 17 rd izR;sd ç’u ij 4 vad fu/kkZfjr gSç’u Øekad 13 ls 17 rd izR;sd ç’u ij 4 vad fu/kkZfjr gSç’u Øekad 13 ls 17 rd izR;sd ç’u ij 4 vad fu/kkZfjr gSaa aaAAAA 

 (vi) ç’u Øekad 18 ls 20 rd izR;sd ç’u ij 5 vad fu/kkZfjr gSç’u Øekad 18 ls 20 rd izR;sd ç’u ij 5 vad fu/kkZfjr gSç’u Øekad 18 ls 20 rd izR;sd ç’u ij 5 vad fu/kkZfjr gSç’u Øekad 18 ls 20 rd izR;sd ç’u ij 5 vad fu/kkZfjr gSaa aaAAAA 

 (vii) vko’;drkuqlkj LoPN ,oa vko’;drkuqlkj LoPN ,oa vko’;drkuqlkj LoPN ,oa vko’;drkuqlkj LoPN ,oa ukekafdr fp= cukb;sA  ukekafdr fp= cukb;sA  ukekafdr fp= cukb;sA  ukekafdr fp= cukb;sA          

Instructions: 

 (i) All questions are compulsory. Internal options are given in each question from 

 question no. 5 to 20.  

 (ii) Each question from question Nos. 1 to 4 carries 5 marks and each sub-

 question carries 1 marks. 

 (iii) Each question from question Nos. 5 to 8 carries 2 marks.  

 (iv) Each question from question Nos. 9 to 12 carries 3 marks.  

 (v) Each question from question Nos. 13 to 17 carries 4 marks.  

 (vi) Each question from question Nos. 18 to 20 carries 5 marks.  

 (vii) Draw Neat and labelled diagrams where ever necessary.  
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iz-1 izR;sd ç’u esa fn;s x;s fodYiksa esa ls lgh fodYi pqfu;s& ¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 

 (v) fo|qr /kkfjrk dk S. I. ek=d gS&   

 (i) LFkSr QSjM     

 (ii) QSjM  

 (iii) dwykWe          

 (iv) LFkSr dwykWe 

    

 (c) ,d bysDVªkWu ij vkos’k dh ek=k gksrh gS& 

 (i) 1.6×10-10 dwykWe   

 (ii) 2.6×10-10 dwykWe 

 (iii) -1.6×10-19  dwykWe    

 (iv) 1×1019 dwykWe 

 

 (l) vksºeh; izfrjks/k gS&  

 (i) laf/k Mk;ksM   

 (ii) izdk’k mRltZd Mk;ksM   

 (iii) VªkaftLVj   

 (iv) rk¡cs dk rkj  

 

 (n) fdlh ifjiFk esa /kkjk dk ekiu djus ds fy, yxkrs gSa&   

 (i) oksYVehVj    

 (ii) /kkjkekih  

 (iii) vehVj    

 (iv) oksYVkehVj 

 

 (b) fo|qr /kkjk ds pqacdh; izHkko dh [kkst dh Fkh&  

 (i) ¶ysfeax us    

 (ii) QSjkMs us   

 (iii) ,safi;j us     

 (iv) vkWLVsZM us  
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 Select the correct alternative in each of the following:-     

 (a) The S. I. unit of electrical Capacitance is- 

 (i) Stat  farad     

 (ii) Farad  

 (iii) Coulomb      

 (iv) Stat Coulomb  

 

 (b) The amount of charge on one electron will be-  

 (i) 1.6×10-10 coulomb  

 (ii) 2.6×10-10 coulomb  

 (iii)  -1.6×10-19  coulomb  

 (iv) 1×1019 coulomb 

 

 (c) Ohmic resistance is- 

 (i) Junction diode   

 (ii) Light emitting diode  

 (iii) Transistor    

 (iv) Copper-wire   

 

 (d) To measure current in the circuit, the instrument used is- 

 (i) Voltmeter    

 (ii) Galvanometer  

 (iii) Ammeter     

 (iv) Voltameter  

 

 (e) The magnetic effect of current was invented by-  

 (i) Fleming     

 (ii) Faraday  

 (iii) Ampere     

 (iv) Oersted   
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iz-2 fjDr LFkkuksa dh iwfrZ dhft,&  

(a) i`Foh dk foHko --------------------------------------------------------------------------------------- ekuk tkrk gSA 

(b) Ni-Fe lsy dk vfo"dkj ------------------------------------------------------------------------ us fd;k 
FkkA 

(c) Hk¡oj /kkjkvksa ds dkj.k] fo|qr ÅtkZ dk {k; ------------------------ ds :i esas gksrk gSA 
(d) jksxksa ds dhVk.kqvksa dks ekjus ds fy, ----------------------------------------------------- fdj.kksa dk  
 mi;ksx fd;k tkrk gSA 
(e) ijkofrZr fdj.k o viofrZr fdj.k ds chp dk dks.k --------------------------- gksrk gSA 

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½    

 Fill in the blanks-  

(a) The potential of earth is assumed to be ……………………..  

(b) Ni-Fe cell was invented by ……………………………………. 

(c) Due to eddy currents, the loss of electrical energy is in the 

 form of …………………………………………………………… 

(d) …………………………. rays are used for killing the germs.  

(e) For incident light at polarising angle, the angle between the 

 reflected ray and refracted ray from a surface is……………. 

 

iz-3 lgh tksM+h cukb,&         
 dkWye ^^v^^       dkWye ^^c^^  
(a) ySal dh {kerk     (i) yky 

(b) ljy lq{en’khZ dh vko/kZu {kerk  (ii) oksYVst fu;a=d 

(c) [krjs dk flXuy     (iii) Mk;ksIVj 

(d) QksVkWu dk fojke nzO;eku    (iv) 
f

D
1+  

(e) tsuj Mk;ksM     (v) 'kwU; 

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½    

 Make the right match-  

 Column “A”     Column “B” 

(a) Power of lens     (i) Red  

(b) Magnifying power of simple (ii) Voltage regulator  

  microscope  

(c) Signal of danger    (iii) Diopter  

(d) Rest mass of photon   (iv) 
f

D
1+  

(e) Zener Diode     (v) Zero  
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iz-4 fuEu iz’uksa ds mÙkj ,d okD; esa nhft, & 

(a) m nzO;eku ,oa ν osx ls xfr’khy d.k ls lEc) Mh&czksXyh rjaxnS/;Z 

 dk lw= fyf[k;sA 

(b) nks 'kq) v)Z pkydksa ds uke fyf[k;sA  

(c) NAND xsV ds fy, cwfy;u O;atd fyf[k;sA 

(d) QSDl e’khu dk D;k mi;ksx gS\ 

(e) WWW dk D;k vFkZ gS\ 

¼1¼1¼1¼1××××5¾5½5¾5½5¾5½5¾5½ 

 Give the answer of the following questions in one sentence -  

(a) Write formula for the de-Broglie wave – length of a moving 

 particle of mass m and velocity ν. 

(b) Write the name of two pure semi conductors.  

(c) Write Boolean expression for NAND gate. 

(d) What is the use of Fax machine?  

(e) What is the meaning of WWW?  

 

iz-5 czwLVj dk fu;e fyf[k;sA      

State Brewster’s law.  

vFkokvFkokvFkokvFkok@@@@OR 

fo|qr pqacdh; o.kZØe esa lcls NksVh rFkk lcls cM+h rjaxnS/;Z ds fofdj.kksa 

ds uke fyf[k;sA                 

Name the radiations of minimum and maximum wavelengths in 

electromagnetic spectrum. 

¼2½¼2½¼2½¼2½    

iz-6 ,d mÙky niZ.k dh Qksdl nwjh 10 lseh- gSA niZ.k dh oØrk f=T;k Kkr 

dhft,A       

The focal length of a convex mirror is 10 cm. Find the radius of 

curvature of mirror.      

vFkokvFkokvFkokvFkok@@@@OR 

fdlh mÙky ySal dh Qksdl nwjh 75 lseh- gSA bldh {kerk dh x.kuk 

dhft,A                 

The focal length of a convex lens is 75 cm. Calculate its power.  

¼2½¼2½¼2½¼2½    
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iz-7 rkik;fud mRltZu ds fy, mi;ksx esa vkus okyh /kkrq esa dkSu & dkSu ls 

xq.k gksus pkfg,\      

What should be the characteristic properties of a metal to be 

used for thermionic emission?     

vFkokvFkokvFkokvFkok@@@@OR 

izdk’k fo|qr lsy ¼QksVks lsy½ ds dksbZ 4 izeq[k mi;ksx fyf[k;sA 

Write any four important uses of photo cell.  

¼2½¼2½¼2½¼2½    

iz-8 ,ukykWx flXuy rFkk fMftVy flXuy esa dksbZ nks vUrj fyf[k;sA      

Write any two differences between analog signal and digital 

signal.      

vFkokvFkokvFkokvFkok@@@@OR 

fuEu oksYVst Lrjksa ds fy, rhu vadksa okys f}vk/kkjh dksM fyf[k;s% 

(i) 2 

(ii) 5    

Write down the binary code of three digits for the following 

voltage levels:  

(i) 2 

(ii) 5 

¼2½¼2½¼2½¼2½    

iz-9 vkse dk fu;e D;k gS\   

What is Ohm’s Law?     

vFkokvFkokvFkokvFkok@@@@OR 

'kq"d lsy dk ukekafdr fp= cukb;sA     

Draw labelled diagram of Dry cell.  

¼¼¼¼3333½½½½    

iz-10 eksVj xkM+h dks LVkVZ djrs le; mldh gsM ykbV dqN eUn gks tkrh gSA 

D;ksa\      

On Starting a motor car, its head light gets dim. Why?     

vFkokvFkokvFkokvFkok@@@@OR 

fdjpkWQ ds fu;e fyf[k;sA                 

State kirchoff’s laws.   

¼3½¼3½¼3½¼3½    
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iz-11 ijkorZu fdls dgrs gaS\ ijkorZu ds fu;e fyf[k;sA   

What is reflection? State the laws of reflection.    

vFkokvFkokvFkokvFkok@@@@OR 

fuEu ds ,d&,d mi;ksx fyf[k;s%&  

(i) lery niZ.k  

(ii) mÙky niZ.k 

(iii) vory niZ.k  

Write one use of each: 

(i) Plane mirror 

(ii) Convex mirror  

(iii) Concave mirror  

¼3½¼3½¼3½¼3½    

iz-12 iw.kZ vkarfjd ijkorZu D;k gS\ bldh 'krsZa fyf[k;sA   

What is total internal reflection? Write its conditions.     

vFkvFkvFkvFkokokokok@@@@OR 

fl) dhft, &                 

Prove that - 

a µ w × wµ
 
g × g µ

 
a = 1 

¼3½¼3½¼3½¼3½    

iz-13 fdlh /kkjkokgh pkyd ds ,d vYika’k ds dkj.k mRié paqcdh; {ks= ds fy, 

ck;ks&lsokVZ dk fu;e fyf[k;s rFkk blds vk/kkj ij /kkjk ds S.I. ek=d 

,safi;j dh ifjHkk"kk fyf[k;sA       

Write Biot – Savart Law for the magnetic field produced due to 

an element of a current carrying conductor and on the basis of it 

define the S.I. unit of current ampere.     

vFkokvFkokvFkokvFkok@@@@OR 

'k.V D;k gS\ bldk fl)kUr le>kb;sA 

What is Shunt? Explain its principle.  

¼4½¼4½¼4½¼4½    
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iz-14 dkj.k fyf[k;s &  

(i) izfrjks/k ckWDl ds Hkhrj rkj dh dq.Mfy;ksa dks nksgjk eksM+dj cuk;k 

 tkrk gSA D;ksa\  

(ii) fdlh fo/kqr ifjiFk dks vpkud rksM+us ls mlesa fpUxkjh fudyrh gSA 

D;ksa\    

Write reasons – 

(i) Inside a resistance box, the coils of wire are made by 

doubling the wire on itself. Why? 

(ii) When an electric circuit is suddenly broken, a spark is seen. 

Why?  

vFkokvFkokvFkokvFkok@@@@OR 

A.C. ifjiFk ds fy, fuEu O;atd izkIr dhft, &  

 Pav = V rms × I rms × cos � 

Obtain expression for the A. C. circuit  

Pav = V rms × I rms × cos � 

¼4½¼4½¼4½¼4½    

iz-15 rqY;dkfyd mixzg D;k gS\ bldk ifjØe.k dky D;k gS\ bldh i`Foh lrg 

ls nwjh yxHkx fdruh gS\ bldk ,d izeq[k mi;ksx fyf[k;sA   

What is a synchronous satellite? What is its period of revolution? 

What is its approximate distance above the earth’s surface? 

Write it’s one important use.      

vFkokvFkokvFkokvFkok@@@@OR 

izdk’k ds O;frdj.k ,oa foorZu esa pkj varj fyf[k;sA         

Write four differences between interference of light and 

diffraction of light.  

¼4½¼4½¼4½¼4½    
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iz-16 la;qDr lw{en’khZ dk ukekafdr js[kkfp= [khapdj izfrfcac dk cuuk n’kkZb;s] 

tcfd vafre izfrfcac Li"V n`f"V dh U;wure nwjh ij curk gSA bl fLFkfr esa 

vko/kZu {kerk dk lw= fyf[k;sA      

Draw a labelled ray diagram of a compound microscope showing 

the magnified image formed at the least distance of distinct 

vision and write the expression for it’s magnifying power.      

vFkokvFkokvFkokvFkok@@@@OR 

,d [kxksyh; nwjn’khZ dh JkUr us= dh voLFkk esa vko/kZu {kerk 15 gS rFkk 

nksuksa ySalksa ds chp dh nwjh 80 lseh- gSA ;fn vfHkn`’;d ,oa us= ySal nksuksa 

gh mÙky gksa rks mudh vyx & vyx Qksdl nwfj;ksa dh x.kuk dhft,A          

The magnifying power of an astronomical telescope in the 

relaxed eye state is 15 and the separation between the two 

lenses is 80 cm. If the objective and eye lens both are convex, 

calculate their focal lengths.  

¼4½¼4½¼4½¼4½    

iz-17 lapkj i)fr ds dkSu&dkSu ls rRo gSa\ CykWd vkjs[k [khpdj le>kb;sA     

What are the elements of communication system? Explain with 

the help of block diagram.     

vFkokvFkokvFkokvFkok@@@@OR 

laf{kIr esa fyf[k;s & 

(i) yst+j (LASER)  

(ii) ekWMse (MODEM)   

Write in brief –  

(i) LASER 

(ii) MODEM 

¼4½¼4½¼4½¼4½    
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iz-18 xkWl dk izes; fyf[k;s rFkk bls fl) dhft,A      
State and prove Gauss’s theorem.     

vFkokvFkokvFkokvFkok@@@@OR 

fdlh lekUrj IysV la/kkfj= dh /kkfjrk ds fy, O;atd izkIr dhft, tcfd 
IysVksa ds e/; ok;q ;k fuokZr gksA ;fn IysVksa ds e/; dksbZ ijkoS|qr ek/;e 
j[k fn;k tkos rks /kkfjrk ij D;k izHkko iM+sxk\     
Obtain expression for the capacitance of a parallel plate 

condenser when air or vacuum exists between the plates. If a 

dielectric medium is placed in between the plates, how is its 

capacitance affected.  

¼5½¼5½¼5½¼5½    

iz-19 nks izsjd dq.Mfy;ksa ds LoizsjdRo L1 o L2 gaSA fl) dhft, fd bUgsa%  
(i) Js.khØe esa tksM+us ij rqY; izsjdRo L1 + L2 rFkk  

(ii) lekUrj Øe esa tksM+us ij rqY; izsjdRo 
21

21

L  L

L L

+
gksxkA     

The self inductance of two inductive coils are L1 and L2.  

Show that : 

(i) When they are joined in series, the equivalent inductance is 

 L1 + L2 and  

(ii) When they are joined in parallel, the equivalent inductance 

 is 
21

21

L  L

L L

+
.    

vFkokvFkokvFkokvFkok@@@@OR 

izR;korhZ /kkjk Mk;useksa dk o.kZu fuEu 'kh"kZdksa esa dhft,%  
(i) fl)kUr  

(ii) ukekafdr js[kkfp= 

(iii) lajpuk 
(iv) dk;Z fof/k   

Describe an a. c. dynamo under the following headings: 

(i) principle  

(ii) labelled diagram 

(iii) construction 

(iv) working  

¼5½¼5½¼5½¼5½    
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iz-20 fn"Vhdj.k dks ifjHkkf"kr dhft,A v)Z rjax fn"Vdkjh ds :i esa P – N laf/k 

Mk;ksM dk o.kZu fuEu 'kh"kZdksa esa dhft, &   

(i) ifjiFk dk ukekafdr js[kkfp=   

(ii) fuos’kh foHko o fuxZr foHko dk le; ds lkFk ifjorZu vkjs[k    

Define Rectification. Describe a P – N Junction diode used as a 

half wave rectifier under the following headings:  

(i) labelled circuit diagram 

(ii) graphs showing the variation of input potential and output 

 potential with time.  

vFkokvFkokvFkokvFkok@@@@OR 

nksfy= D;k gS\ vko’;d fo|qr ifjiFk [khapdj le>kb;s fd VªkaftLVj dk 

mi;ksx nksfy= dh Hkk¡fr fdl izdkj fd;k tkrk gSA             

What is an oscillator? Draw necessary circuit diagram to show 

the use of a transistor as an oscillator.  

¼5½¼5½¼5½¼5½    

 

------------------------------- 

    
    
    
    

 


